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Directions Qs.1-4:- Mark the correct synonym out of the four chmces given, of the followmg
words :-

L.

Overwrougl_lt _ . . _ L SN
A)Tense ' B) Empathetic ~ C) Oppressive - - D) Preposterous

Mannequin:- SR e ;
A) Mannerly - B) Dummy C) Materialistic -~ D) Massive ...

Pontifical:~ _ U FOREET
A) Supportive - B) Predominant . C) Doctrinaire D) _P_o_tenti_al i

- Restitution

A) Cautlous - B) Occupatton e C) Seizure _- f ' D) Recovery

Dlrectmns Q. No. 5-7: Mark the cotrect meamng of the }tallcrzed 1droms/ph1ases used in the_
following sentences out of the four choices:- . :

5.

 The High Court has set aside the decree of the lower court R A

~A) annulled R B) remforced C) condemned ER .D) appreciated

. 'Kanmuddmpulled tiuough the exammahon '. R R
'A) d1d not appear at B) passed with d1fficulty C) became rll D) created dtsorder

 Kirat has knocked about the world a great deal. -
- Aywasted histime - . B) condemned the world _ L
' C) wandeted about _ Sl SRR . D) exposed hlS mnermost feellngs to others _

| ‘Directions: Q 8-10: _Choose the correct preposuzon, out of the four g1ven ch01ces to be ﬂlled in
-the gaps of the following sentences:- - '

8.

oAby s B)Up G ri--".Cnatf-if‘wx-_'_r0ﬁ©n1~- -

o

1
14,

N

After a long dlscuss1on, he wrll come round “our views.

CEA)at B) in oo ": C) of : D) to

. _'._Thousands ofpeoplemthe vrllages were camed ' by plague last year [ R
Aot B Qo - Difom

I feel qulte done 1OW.

Washmg soda is the common name for i ' S
+o0 A) Calcium carbonate S o B) Calc1umb1carbonate o
0 Sodlum carbonate L i : .;'.D) sodlum btcarbonate IR

Red blood corpuscles are formed in

A)Liver B) Small mtestme .'C) _Kidney_s';'_ D)_:Bohc.marrow_ S
.'_Gomels caused bythe deﬁclencyof i T SR o

' -A) Zine B B) Chlorme S '_."C) Iron = . D) lodine
 The screntlﬁc studyofagemg is knownas o L e S
. A) Ettology B) Gerantology C) OSteol:ogy__ S D) Tera_to_l_og_y SRR
- -In Wthh language d1d Buddha preach‘7 L G i sl

. A) Pali B) Piakrrt N AN _C) Brahml .'ﬁ-; -':_:' "-_.:_D) Sansknt

16. - 'Who arnong the foIlowmg Mughal rulers was rgnorant of the art of reading & wntmg? e

A) Bab_a.r_. B) Humayun _:.j_ i C) Akbar o D) Jehanglr :.-.: .. :
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17.
18.
19.

20.

a1,
2

: _..:23. i

The theory of economic drain of India during British imperialism was propounded by
A) M.K. Gandhi B) Jawaharlal Nehru C) Dadabhai Naoroji D) R. C. Dutt

Who declared: *The only hope for India is ﬁom the masses. The upper classes are
physically and morally dead’? '

A) Mahatma Gandhi -+ . B)Gopal Krishna Gokhale
C) Swami Vivekananda . - . . D)Bal Gangadhar Tilak
Who was the first speaker of the Lok Sabha’? . | :

A) Malgaonkar : .t 'B)P.Upendra -

1) Anantha Sayanam Ayyanagar T D) Hukum Sm_gh _
What is ‘Zero hour’? i

- A) When the proposals of the opp031t10n are con31dered e |

B) When matters of utmost importance are ralsed RN
C) interval between the morning and afternoon sessions

D) when a Money Bill is mtroduced in the Lok Sabha -

The. basm reguiatory authouty for mutual funds and stock mar kets hes w1th the _ |

- A) Government of India - . e 2'B) Reserve Bank of India -
: 'C) Securltxes and Exchange Board of Indla j : D) Stock Exchanges o
L Whlch of the followmg does pubhsh ‘W011d Investment Report’ 9 i
A)WEF  B)WIO ~ OQGATT D)UNCTAD |
_..CENVAT is assocxated w1th i s BRI EE T -
“A) Rate of indirect tax -~~~ - <B) Rate of income tax _
0). Rate of directtax . D) None of the above X _' i

24,

.26'. ..

27.

g Which of the followmg has been appomted as brand ambassador of thc Guj arat State P
. ‘Election Commission: .’ _ - - S
S A) Amitabh Bachan -0 B) Cheteshwar Pujala BRI

o C) Ravinder Jade_]a L D) Irfan Khan e

25,

World Day agamst Child Labour is celebrated on:

“A)Jwel2 - Blwel6 C)Juné'zo _ D)Junell

Malaia Yousazat fought for gnis educatlon in Swat valley agamst the Tahban and was
shot in head by Taliban militant. Her birthday was declared as Malala Day by UN

" General Secr etary Ban Ki-Moon. The first Malala Day was obsewed on:

A) July 12,2013 B) October 9, 2013 C) September 11, 2013 D)Apnil2 2013 |

. Bermuda Tnangie extend upto whxch of the followmg places? S
1. Southern Florida .~ 2. PuertoRico - . 3, Hawaii Islands ;".

Which of the statement(s) given above i is /a1e correct,

A)12and3 © B)lmd2ony C)2and3nonly D)land3only

28. -

29.

30

For wlnch sport is the Val Barkel Cup, awarded in the Olymptc Games'?

-~ A) Swnnmlng . B)Boxing -0 - C)Long Jump T D) ngh Jutnp
- Acid rain is caused by the pollution of envtronment by :

A) carbon dioxide and nitrogen =+ o B) carbon monoxxde and carbon dlox1de 5

.. C) ozone and carbon dioxide =~ D) mtrous oxide and sulphur dloxxde RO AT

Who is at present the Foreign Secretary of Indla‘?

- A) Sujatha Singh B) Manorama Smgh C) Amlta Sharma :':_ .D) An_lna Ral o
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31.
3.
33.
34,
35.

36,

‘Cell’ is related to ‘Tissue’ in the same way as “Tissue’ is related to
A) Ob_] ect B) Ear C) Organ D) Limb

Choose the word from the given altemattves that shows the same reiatlonshtp as is found
between the two words to the right of the 31gn '
QPRS: TUWV 1 JIKL : 7 -

~AYNMOP - B)Nwmo 's,ff C)MNPO Lf | D)MNOP

Three of the followmg are alike in a certam way and SO form a group Whrch is the one

that does not belong to the group? _
A) Volume B) Size - Olarge = - D) Shape et

Three of the following four are alike in a certain way and so foun a group Whtch 1s the

one that does not belong to the group? S ‘
A)62 R RT B)42 e C)152 D)IIO

Tn a certain code Kanguage, ‘BAT’ is wrltten ‘YZG’ How will ‘SICK’ be wrttten in that

. same code? .. RO - i
A)HRYV B)HRZP _ C)HRXP ) '_ D)RHPX S

In a certain code ianguage min ﬁn bin gm means ‘Trarns are aiways late gln d1n cin
hin’ means ‘Drivers were always punished’, ‘bin cin vin rin’ means ‘Drrvers stopped all_
frains’, ‘dm kin fin vin’ means “All passengers were late ' B :

In the same code, ‘hin min kin’ would mean: . ' :

A) Always late train -~ - . s Byall passenger trains

9 Passengers are 1ate : SRR D) Passengers are pumshed

' Dlrectlons Q.No. 37 to 39 Read the pattem of words/numbers and ﬁnd the mrssmg term from_ .

the given alternatives:

37,

38,
39,
40.
41,
42,

43. -

1AZ, KEB, 7, OOF, QUH

HvDD - BMI oMo "j:-_m_MJD:_: "

f419 738, 639, ?.ﬁ's' ,?..E-L{-.f_i**j'V,-”ff:;;.;.;ﬁ_= G
4, 16, 36, 64,2144 i -]-'. : Sl

'AQSI oo B CDIOO - IDIZI

: Rav1 walk g mt. North East and then 6 m South East What is the strarght hne distance_'_

- between the starting point and end pomt‘? ST N
S AM0m o Blm Q7m __g; mzm

If ‘P + Q' means that P is the sister of Q ‘P Q means that Pis the mother of Q, ‘P X Q
-~means that P is the brother of Q, ‘P + Q' means that P is the father of Q Whrch of the .
" following means that M is the matemal-uncie of R? = :

CAYMxT-R - BYM+TxR - C)M+T= K R D)M N+J o
- Poonam said to her friend, “Yesterday 1 attended the blrthday party of the son of the only _
" son-in-law of my mother s mother How is Poonam 1elated to the man, whose btrthday i
' ‘party she attended? o o '
‘A)Niece . . B) Daughter C) Slster D) Mothe1 L g
In the followmg sertes, some letters are missing wluch a1e glven in that order as one. of - RREE RS

the aItemattves below it. Choose the correct alternatrve

'a bc-a-—-beda— ccd bed — .
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Directions for Q.No.44 to 46: Read the following mfo:‘matlon carefully and answer the
questions given below:

44,
45,
46,

47,

RO

(ii}
(iii)
(iv)
)
(vi)

Eight rooms P, Q, R, S, T U, Vand W are looated adjacent to one anothe1 in two
different rows with four in each 10W, '

Doors of the rooms of one row open into the doors of the rooms of another row.

No room of consecutive letter is either adjacent or opposite to each other

P and Q are the rooms located at the end of two different rows. :
Risjustleftof T and is located in the same row in whtch Pi is located

) ISJuSt left on - -

Which room is oppos:te to P?

A)S

B)U C)W - D) None of these

Which room is diagonally opposite to S"
A)Q o

B)W U : C)V .D)None of_these |

Which of the foliowmg room is not located at cither ends‘? S

A)Q

How many parallegomms are thele in the ﬁgure glven below’? E

By ... .08 D)W

¥ A) 4o B OB _' D)16

The rat1o between the present ages ‘of Ravi and Vmay is 7: 15 respectlvely T WO yeais.

from now, Vinay’s age will become twice the age of Rav1 What was the dlﬂ‘erence
-~ between their ages five years ago? : : .

' '_ A) 13 year o B) 16 year C) 11 year = _' 5 D) 18 year o

| '-Dlrecttons Q. No 49-50 120 candldates appeared in an exammatxon in thlee subjects Engllsh. |
(E), Science (S) and Maths (M) The number of candldates who falled in E S and M are shovm

' in the followmg dlagram

49,
50.

51.

_ _'._Fmd the number of candldates who falled m atmost one subject Sl
' -3A)90 : B)110 c)50 D)80

Find the % candldates who falled in atleast one subject. G

A% B) 50% -+ ..C)83.3% '.D)No._ne Qfabove Sl

‘Alphonso’ vartety of fruit is of:

A)Guava . B)Litchi C)Mango ':'_'_-D_) Po;ne_granate .
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52.

53.

54.

55,
56.
-
s
s
.
_6l_. |
| '_-fs:l.

65.

63.

69.

Black tip disease of mango is caused by:
A) Fungal disease B) Insect bite '
C) Viral disease D) Toxic gases from the fumes of bnck kiln

Citus canker is a: : - : .
A) Bactenal disease B) Vlral disease C) Fungal dlsease D) None _of the above

Powdery mrldew can be controlled by spraymg
A)Melathion " - 'B) Thxodan L
C) Karathane or Wcttablc sulpher R D) All the abov_e _

Pear is one of the 1mp0rtant frult of the:

; A) Al.id ;egion B)Temperate region Y Tr0p1cal reglon D) _Sub-tropical_ region

‘Flouda Prince’, and ‘Shane—e—Punjab’ are 1mportant varletres of:

“A) Khurmani : “B)Peach . C)Pear _j_ [ ~D)Plum_

‘Dehradun and ‘Calcuttia are unportant cultlvars of:

_A) Pear . B)Litchi . .C) _Ph_nn: D) None_oft_he above

.A) Mono_ecl_ous_ B) Dio_e_cioas_ _ ks _C) Her_maphrodite__ __D)_I-_I_a_ve all the _a:boyc__types .

_ A) Rlpenecl ovule B) R_lpened seed - C) Rlpened ovary D_) Ma_t__u_re _ped_icel :

_' .Streptomycm can be used in pIants to cure mfectwn of: -

A) Bacteria S B) Vll'uSS B S Fung1 D) Myxomycetes : _;'

_'.'.Number of mrtochondna ina green plant cellis " in am_mal ceIl . o ; L
‘A) Less than B B) More than - L C) Same as. .l D) No relevance R

Dampmg-off 2 horuculttual dlSGaSG 01 condmon caused by a number of pathogens is:

- A) At seedling stage SR : - 'B) Before flower nntra_tlon e
o C) Aﬁer fruitset - o :'_ s D) All ofthe above

'Plantsgrowwellm L _.: S T
R _A) Sandysorl __:3_- B) Clay soﬂ j _ C) Lo_amy_soil__' '-'_g'-D_)Alkali_ne soil :

-'_.__Percentage_ quantrty ofmtrogen 1:_1 urea is: . SRR R
: A)34 A B)40 & C)46 Lo o Dys2

'Bestplanting t1me for decrduous fru1t trees is - :'}ﬁ e B AR A .
R A) May-June - B) }une—July 0 September—October : D) Decc_mb:err.-lanl__lary,--._ i
66, Best time forprumng of grape vine is: o P Ly
o A) January e B)March C) July D D) October S
LAY JanUary-February -B) May—June IR, C) July-August e 'D) October—November o

Best time for pr_uning of roses is:

‘Gola’ and ‘Umran -are spec1ﬁc cul‘uvars of LR _' ST
: _A)._Ber_---_'--;_.-'_ Sy B) Falsa f Es C) Loquat S D) P_l_u_r_n_ eI

APPle 2rows well:in '- : chmate

A And B) Sub troplcal C) Troprcal D)Temperate e

. JE@)PageToflo




70.
71.
72.

73.

"
75
g .. 6.
.

80,
81.

8.

85,
86.

87.

Leaf curl disease of Carica papaya from India may be caused by:

A) Fungal B) Bacterial . C) Virus D) None of the above
‘Banana is generally pzopagatted by R
A) Pups B) Offshoots C) Successors D) All of the above
' AshGourdbelongstothe famrly ST R
A) Solanaceae B) Cueurbrtaceae -0 R_osaceae [RES N .D) _F_abace_ae
Alternative bearing in mango is: . o '
A) Due to virus infection - ' B) Due to vegetatwe malfonnatlon
-0 Heredrtary character PR -_-D) Seasonal vanatron
_Gmgerlsa '_ S e o '_
A) Bulb. : B) Stem o _' RN C) Rluzome s _D) Tuber 0
Jatti Khatti (Crtms;ambm) 1saroot stock of - f R _
A)Litehi . B)Chiku - oo C) Klnnow -+ D) Pomegranate - .
' Roses areusuallypropagated by R )
A) ng grafnng B T~budd1ng 0 S_te_rn cu_tt_ings D) Air-layering -
Potato 1samod1ﬁed formof I Tt
: A)Leaf S B)Stem '_ g '_ : _'C)Root - D)Noneofthe above ..~ " .
R Aquattc plants have well developed N phEa et e
. A) Roots IR B) Xylem R _-;C) Stomata - . - D) Aerenchyma . .-
'The edrblepart ofcoconut is: R .
A) Pericarp i .- B) Seed coat S C) En_dosperm D) Em_bryo S
-Apom1x1s means development of plants : e T
. .A) From fusion of gametes ..o E B) Wlthout fus1on of gametes .' '
'C) From stem cuttings ~ - D) M;cro-propagatlon ' '

The transfer of pollen grams from the anther of one ﬂower to tl1e s’ngma of a genettcally o It i
“different flower is: - S S

A) Cross pollmatlon B) Aliogamy Q) Xenogamy S D) All ’the above
A fruit developed frorn a whole mﬂoxescenee includmg its peduncle and ﬂowers isay. o
N .-A) Snnple fruit B) Aggregate fnnt . : C) Compos1te fnnt D) None of_the above AN
- 83. -"Resms are commonly found in: .~ . R

~A) Algae . B) Ptendophytes 2 0) Gymnosperms_ : D) Anglosperms N

'Morphmets obtamed from: * L

A) Cinchona officinalis o - B)dtropa belladonna ki

C) Papaver rhoeas =~ .- .: e D) Papvel sommfer um . .'

BactenalDNAts S = L
i A) Straight ‘B) C:rcular and free C) Hehcal D) Membrane bound

In a chemical method of plotoplast fusron protoplasts are Ereated with: - :

A) Benzyl-6-amino purine (BAP) " B) Indole-3-acetic acid (IAA)

C) Polyethylene glycol (PEG) S D) Naphthalene acetic acrd (NAA)

Biological control means: - f :-- T _ _ A

A) Control of harmful insects ': S B) Control of weeds

C) Control of pests and weeds through speclﬁc or ganrsms . D)None of the above ; S
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88.

89.
90,
91.

922.
93,
94,

95,

96,

o7,

eg.
© Naple BB C)Mango . DPar

In India, the most popular bioinsecticide is extracted from:
A) Acacia B) Azadirachta C) Cassia D) Dalbergia

Herbicides interfere with:
A) Water absorption . _ . B) Photolysis of water
C)COabsorption = D) Translocation of sugars S

Wood used for manufacturing matches is derwed from
A) Bombax malabarieum --: - B) Hibiscus rosa-sinensis ...
C) Ma!va sylvestris . - = i D) Gossypmm be: baceum ..

Fruit j jam bottled and packed airtight will not pernnt fungal and bacterlal growth because:_
A)ltisairtight -~ B)Nutrients present in it are not su1table for saprophytes -

:C) Itis hypertonic .. D) None of the above Coniah

"Acid'ra'i_n'is_richii_l o S R T
- A) Acetic acid i B) Carboxyhe ac:d C_)_N_i;ﬁ_c _ac:id__ _D)_._SU_Iphu:fiC__aCid

Clovelsadned Rt A e L
-A) Vegetatwebud B) FIowerbud : C) Fruit-' s D) Seed

. -.Wh:eh ong ofthe fo[lowmg is k:nown asa hvmg fossxl‘? : D PRI O ST -
A) Epiredm bxfohata B} Gmkgo biloba C) Pmus ioxbm gim : D) Taxus baccata S

_Juteﬁbresarepartof DI L SRR
' A) Cortex - .~ 'B) Epldemus C) Phloem e '_"__D) Xylem -

' _In pea (PISHIH satrvum) reserve food materlal is stored in:

A)Radicle .. B) Cotyledons L0 Plumule o D) Seed _eoat. ~

_"._Sugarcane breedmg_Research Instltute is located at S0 I co
A) Bangalore S B) Bhubaneshwar C) Cmmbatme ... D) Lucknow . - SRS

'-Theprmmpa_[ source oflndlantutpentm_e 011 is: R AR SO SRR
'_A) Pmus TR B) Pogostemon :1_ C) Rosa s D) Syzygium -

Stone cells are found m the ﬁ'u1ts of

'-Sourceoffood f01 thesﬂkwmmsmieavesof R e e
S A) G_ooseben_'y I B) Blackberry C) Raspberry 'D) Mulberry =
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Post: JE Horticulture (30.03.2014, Evening Session}
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